S2A-ZH () - HRAY - BES I E A Hw=sz
nIPNZ= 1,343,526 1,308,376 40, 150
F0lorE MHIA MB(24S) 409,930 376,930 33,000
Hol Yag 29 409,930 376,930 33,000
STSAE L FHSTZ2A(VLS) 215,219 182,219 33,000
01 L2 162,719 129,719 33,000
01 AL 22l 18,130 17,130 1,000
O34T 28 5,200 4,200 1,000
~THEHAI = ZE 4,000,000 4,000 3,000 1,000
02 Z22%Hl 144,589 112,589 32,000
o®IIe= 123,600 93,600 30,000
SRS Y ASE AFF 9,700,0008 + 128 116,400 86,400 30,000
OXt& S X 12,149 10, 149 2,000
-AgEE BE 3,722,0008 * 1 3,722 3,222 500
-E4352 ZE 8,427,000 * 1 8,427 6,927 1,500
EA NGNS (WMS) 665,000 665,000 0
AUe XS (UaS) 665,000 665,000 0
AR FOUSAAL (DAS) 665,000 665,000 0
401 A2 HI 22| 665,000 665,000 0
01 Al&tl 665,000 665,000 0
OS21 A28 A2 L 4234l (L=150m)
Z 3 5,315,000 5,315 24,000 18,685
OS82 s2Z H(L=170m) BF 24,983,0002 24,983 35,000 210,017
Ol S2F A L Hi4+2FH| (L=140m)
23X 27,961,0002 27,961 30,000 A2,039
OME1 T2 2 Hi=2 Al (L=335m)
23X 14,315,0002 14,315 25,000 210,685
O#% HOHSS 52 FF(L=35m)
ZH 5,634,0002 5,634 6,000 366
O34 8t2=E F | (L=10m) Z2E 0¥ 0 16,000 A 16,000
OUA S2E& L A& HHI(L=95m)
2F 17,807,0002 17,807 19,000 A1,193
OWAF Bt==FHl & XY ZE(L=90m)
BE 12,074,000 12,074 21,000 A8,926
OFE NUDISZEE L Hi42FHl(L=230m)
B 24,821,0002 24,821 31,000 AB,179
O UIEE2ZH Y Al HUl(L=80mn)
2 16,400,0002 16,400 16,000 400
O=2 =2ELE L 423 Y| (L=115m)
B 14,654,0002 14,654 20,000 A5,346
O™ Hi2=2XHl(L=108n) AX 28,737,0002 28,737 19,000 9,737
OMZ1 022X Y =2 H 4l (L=145m)
Z X 16,381,000 16,381 23,000 ~6,619




24 WaS
HE: FOIBOEA KAWL (UAS)
el FEYE KGNS (DAS) (SH2:EH)
2A-F3H-H2A(3) - MY - BES O] Ak I & Hns2Z
OMg?2 s = 2 Ui 2= | (L=250m)
AE 20,417,000 20,417 29,000 18,583
OfAs 2L E(L=180m) AH 21,553,000 21,553 30,000 N8, 447
OJI= =2 Hdl(L=125m) FE 9,293,000 9,293 25,000 A 15,707
OO0lE DIEES2X M 2 I & (L=150m)
AE 14,436,000 14,436 30,000 A 15,564
Os=E1 52 Z & (L=205m) aF 0 0 27,000 A27,000
OsS&E1 sS2E XY b4 2FH| 2 AH(L=170m)
A 29,065,000 29,085 15,000 14,085
OSE&E2 NEEH ¥ S2E X AHL=150m)
a3 26,111,000 26,111 25,000 1,111
OAMZ1 OtSE2 2 5= HHI(L=50m)
A 14,461,000 14,461 15,000 A539
OAE1 S2ZZ 2 Hi 22 FH| (L=200m)
2 14,861,000 14,861 28,000 A 13,139
OAFEt2 HH2=2FHI(L=85m) ZA 20,410,000 20,410 26,000 A5,590
OAlJ|l A& AHI(L=60m,H=1.5m) aF 0 0 30,000 230,000
Q&g s2E X (L=225m) F & 29,492,000 29,492 30,000 A508
OA&lEH1 B 424 Xl (L=180m)
A 16,366,000 16,366 28,000 A11,634
Oulg? atss2 X & (L=190m)
A 27,815,000¢ 27,815 27,000 815
ONS2 Ot2 A 2 FH| (L=118m) 14,312 0 14,312
O&lD| DF2 o2 JHI(L=450m) 18,744 0 18,744
OYAS Hi2=2FHI(L=70m) 12,115 0 12,115
O2= =2 3AH|(L=300m) 14,184 0 14,184
OU2FHEAZ2 &2 X E(L=60m) 8,098 0 8,098
Os&2 s 2E & (L=150m) 12,614 0 12,614
OME1 BX0I&(14) 8,698 0 8,698
OQul)| =208 =2 Z & (L=46m) 6,482 0 6,482
OAHE?2 MY s E(L=130m) 14,691 0 14,691
Oulg? 2rB3=2 X & (L=135m) 24,614 0 24,614
OAl)| =2 =& (L=35m) 3,583 0 3,583
OME1 210152 #X(1S) 7,979 0 7,979
OAS 222 L H(L=180m) 26,837 0 26,837
QAalJIQ 2MHA s=2FH|(L=120m) 17,250 0 17,250
O2ARANEGNE S 6,437 0 6,437
#H2I ALY (LAS) 268,596 261,446 7,150
olEeYH(DMS) 172,910 168,260 4,650
IAHI(WAE) 172,910 168,260 4,650
101 Q124 H 172,910 168,260 4,650
01 B2 51,141 46,491 4,650
OLAS A2HAZ R4S (20A124)
AE 51,141,000¢ 51,141 46,491 4,650
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= >
N = 0 &8 AH Y H N AN
20149 & =& 2 3 LU Uatgs ~ =N
SN A2
Mz =0l OIS AHIA MB(Z2H)
chel: E8X0 ASH 29 (s ®d)
2 A .2 (S H) - HEMNY - BHES 0] AFoH Iy H H &2
2= 588,888 576,334 12,554
=0l OIE MHIA HZ=(22H) 155,493 151,531 3,962
S8H0 2A2H 29 155,493 151,531 3,962
MYy U e (2L2W) 29,507 27,513 1,994
201 2Bt 15,769 13,775 1,994
01 AF2 22| H 2,150 2,100 50
OxAAME 100 70 30
-A8E2 AA 30,0009 * 1CH * 13 30 20 10
-ELs2 AN 35,0008 * 104 * 23 70 50 20
OFIQPEAA 222 AX 75,0008 * 23] 150 130 20
02 2229 13,619 11,675 1,944
OF A 12,306 10,362 1,944
S pl=r= AX 490,0008 * 129 5,880 4,992 888
-+Ee2 22X 198,000 * 12 2,376 1,320 1,056
2IANAE L FHH KA (ZSH) 45,745 43,777 1,968
201 22| 27,325 25,357 1,968
02 222 27,325 25,357 1,968
OJgs L ss dMIIe3
AE 1,390,000 * 12 16,680 14,712 1,968
ZOIEO =M XYWL (LEH) 240,000 240,000 0
REYE= NYNL(ZE2H) 240,000 240,000 0
ARE TOI=AAA (LE2H) 240,000 240,000 0
401 AlEHI L =0 240,000 240,000 0
01 Al&HI 240,000 240,000 0
Ool0l™ S 4 X3 AH30m)
23X 10,392,0002 10,392 15,000 A 4,608
OZX & Hi2=Z & Hl(80m) A 8,462,000 8,462 9,000 A 538
Oetols S22 & 2 Hi2=2(60m)
A 13,780,000 13,780 15,000 21,220
OR2A =2 FHHI(100m) A 9,573,000 9,573 10,000 N427
OQ2t &2 &l (70m) A 7,845,000 7,845 10,000 A2,155
OL0lg Hi<ZFHl(40m) 23 6,513,000 6,513 7,000 A 487
OR2E DtS A 2= E(80m)
2 9,346,000 9,346 10,000 A 654
Osel 224 (160m) 22X 11,353,000 11,353 12,000 A 64T
oete =208 2 2 L 2 (150m)
23 19,889,000 19,889 20,000 A1
OAtEHOE Hi2~2 AH|(100m) 22X 9,801,000 9,801 10,000 A 199
OBt Hi2=2 FHI(100m) 23X 5,537,000 5,537 6,000 A463
OoUlas s=22Z& & ti=2(110m)
23X 16,809,000 16,809 17,000 A191




SM: A2
HE: FOMO ZAO NYML(Z2H)
Sl REUS NAWL(L2H) (EH9l:®e)
S2A-ZH () - HRAY - BES Ofl & oH JEH Hn&s2Z
OA&DIAE OFAZ M 2D((100m)
23X 18,834,000 18,834 20,000 ~1,166
O/ =2 T = (100m) 2= 14,051,0009 14,051 15,000 949
O&/D| =2 T (80m) 23 8,983,000 8,983 10,000 ~1,017
OZ® =2 I (100n) 23X 14,051,0009 14,051 15,000 949
OAY =2 T (140m) 2N 17,799,000 17,799 19,000 A 1,201
OL2aI| 9 2MHA 2 EH 3,200 0 3,200
OLYs U HAS 42| 13,782 0 13,782
S AAY (Z2H) 193,395 184,803 8,592
e (Z2H) 77,721 69,129 8,592
2 (Z2H) 77,721 69, 129 8,592
201 Ler2 | 25,409 24,825 584
01 AL 22| 21,766 21,682 84
ousn=z 1,104 1,020 84
-EYE 2R 20,0002 * 15 * 122 240 180 60
XAl ZH 7,0008 *« 18 « 122 84 60 24
02 BB2YH| 3,643 3,143 500
ORERZ 23X 2,623,0002 2,623 2,123 500
405 Xt &t 3 S| 14,008 6,000 8,008
IBEEEEEN 14,008 6,000 8,008
OuWLe)| 2X 4,900,0002 * 1CH 4,900 5,000 ~100
OFI22D| 2 354,0009 * 20 708 1,000 292
OFRHZ A 8,000,000 * 1CH 8,000 0 8,000
O & A 400,000 * 174 400 0 400




E 0 & AFHE B M A

SN o
[u]

M =0l OE NUIA MB(ZeD)
oel: EEHO M 29 CERED
SA BB SA(EH) - NEAMY - B 0 4t o4 oI o HIRE
Z oo 570,007 565,825 4,182
=0l OHE MHIA B (Zele) 136,481 134,761 1,720
EEXQ MY 2Y 136,481 134,761 1,720
S2A4 & FH A2l (HAH) 45,427 43,707 1,720
201 L2yl 28,647 26,927 1,720
02 T2l 28,647 26,927 1,720
SR EEN 13,927 12,927 1,000
-2 852 2% 6,000,002 * 1CH 6,000 5,000 1,000
SEEEMT 2,720 2,000 720
ZOIHOIZA KAWL (HHD) 250,000 250,000 0
2HAS NANL(ZHD) 250,000 250,000 0
ATD FUSVAY (ZAD) 250,000 250,000 0
401 Al HI LS OH bl 250,000 250,000 0
01 Al& I 250,000 250,000 0
O =2 L H(105m) 23 12,038,5502 12,039 3,000 A 961
28 =2 T X (130m) HE 14,840,790 14,841 16,000 A 1,159
OMlE £DY B4 2H 8,803,008 * 14 8,893 10,000 A1,107
ONS Bh+2 Ful(l0on) A 14,557,720% 14,558 15,000 A 442
OA& DH2TY2 LM 2] (150m)
AT 9,246,350 9,247 10,000 AT53
OFF £5t& ZHl  FF 12,449,380% * 14 12,450 13,000 550
O sHEFEl L 52 I (100m)
A 15,554,980 15,555 15,000 555
OAZ S2EF L 42 F Yl (150m)
AT 14,847,709 14,848 16,000 A1,152
OZA =2 H(150m) HE 16,747, 7402 16,748 18,000 A1,252
O h+=2 &x(22n) Y 19,896,720 19,897 23,000 ~3,103
OBA 42 24(180m) A 12,300,000 12,300 13,000 AT00
OZ=2 =2 EF(1250) AT 13,780, 4509 13,781 15,000 A 1,219
ORe =2 %A (103n) AA 11,190, 9502 11,191 13,000 A1,809
Oull etz 2= AFH 8,797,840 * 14 8,798 15,000 26,202
O&El 42 Zui(7Ton) A 16,816,280 16,817 15,000 1,817
ORE S2EH(125m) 23 15,001,670% 15,002 15,000 2
OBS 4 S2EH(126n)
ZE 13,863,0102 13,864 15,000 A1,136
O HWA2UARS2THIA 11,569 0 11,569
OBS h2=2F bl 5,335 0 5,335
Oz 2= 1,000 0 1,000
ON20I2 2IIH LA X 1,267 0 1,267
S (D) 183,526 181,064 2,462




2N

X{ XH -
S =

el

SN B SR(EA) - MBAY - BES 0] &b 2 p/E-T HDE2
J2Z3H(FHH) 69,998 67,536 2,462
23 (#Hd) 69,998 67,536 2,462
201 €24 28,194 25,732 2,462
02 3324l 6,332 3,870 2,462
ORERS Z & 3,500,000 3,500 1,838 1,662
O= Al || Z& 2,000,000 * 1CH 2,000 1,200 800




= >
Nl = 0 At a3 Al
F=ZE 23 LUgH Ysgs ~ =N
=9
0 OFE MHIA HZ2(HEH)
SX0 HEH 29 )
A .2 (S H) - HEMNY - BHES 01l Ao J| S H =
746,762 730,314 16,448
OFE NHIA HES(HEH) 186,970 175,670 11,300
XMool GEM 29 186,970 175,670 11,300
H29 U A2 (HEYH) 31,186 27,386 3,800
201 LEt2 A H| 18,973 15,173 3,800
01 A2 22l | 3,525 2,125 1,400
OHAAl B 1,400,000 * 1K 1,400 0 1,400
02 2229 H 15,448 13,048 2,400
OF At 13,676 11,276 2,400
aplier=" 23X 700,0008 * 12 8,400 6,000 2,400
SIANE L FHHRIAR(AEH) 81,124 73,624 7,500
201 LEr2 A H| 73,500 67,500 6,000
02 B22ZH] 73,500 67,500 6,000
OJIRE 2 MEE ™I
A 4,500,0008 * 12& 54,000 48,000 6,000
401 Al Y2 20| 1,500 0 1,500
01 Al&HI 1,500 0 1,500
O2J1H LA 500,000 * 374 1,500 0 1,500
OFAMN EXA L sctEH| 0 0 0
oAl XYHMNL(HEH) 330,000 330,000 0
A= NANL(HEH) 330,000 330,000 0
AR FO=2AAY(HENH) 330,000 330,000 0
401 Al HIZ 20| 330,000 330,000 0
01 A& H| 330,000 330,000 0
OE =2 ZX(160m) 23X 19,600,000 19,600 25,000 25,400
OHH A HH <2 A HI (190m) 23X 17,800,000 17,800 25,000 A7,200
ORE U224l (80m) 2= 8,800,000 8,800 12,000 A 3,200
O8d™ Hi22 DM A H|(100m)
A 22,200,000 22,200 23,000 A 800
OXE Hi 42 A Hl (60m) 23 9,100,000 9,100 12,000 A2,900
ONZE =2 ZX(120m) A 19,300,000 19,300 20,000 AT700
ORS 42X H|(120m) 23X 12,000,000 12,000 15,000 A 3,000
OLE =2 ZX(150m) I3 0% 0 23,000 A 23,000
OSBAE X2 E(128m) 21,600 0 21,600
Oz =2 ZTX(130m) 2 18,700,000 18,700 20,000 21,300
O2% 22=Ui==2 34| (140m)
23 20,100,000 20,100 25,000 A 4,900
024 =2 ZTX(150m) ZX 20,100,000 20,100 24,000 23,900
O304 0= et X & Hl(70m) 3F o 0 18,000 A 18,000
O30 HH4=2 A H|(222m) 18,000 0 18,000




2N HEo
B FOHOZA KHL(AB)
el RERUE AL (AED) CERED
SA BB SA(EH) - NEAMY - B 0 4t o4 oI o HIRE
OZZ t+=ZHI(130m) 23 30,000,000 30,000 25,000 5,000
OYA =222 (130m) AT 24,500,0008 24,500 25,000 A500
OZ 52 T2 (120m) 33 o 0 24,000 24,000
OVE th< =2 =4l (200n) 15,450 0 15,450
OY4 =2 2bH 42 bl (100m) 10,750 0 10,750
O2El S22 (120m) 16,000 0 16,000
02U =2 % 2 (80m) 2,000 0 12,000
HH2AAY(ANED) 229,792 224,644 5,148
ol 2ol (E D) 160,837 57,109 3,728
o124l (1 Z8) 160,837 157,109 3,728
101 Q1248 160,837 57,109 3,728
NS 33,271 29,543 3,728
OAZO! ARSI 224 (20AI21)
M 33,271,002 33,271 29,543 3,728
2 HH (B 8) 68,955 67,535 1,420
Jl=HH (A ES) 68,955 67,535 1,420
405 ThaHF St 6,520 5,100 1,420
IR EEEET 6,520 5,100 1,420
oSz ME 510,0008 * 204 1,020 0 1,020
oz 2% 400,0008 + 14 400 0 400
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> A
N & 0l & AF S & M M
P014HIE = 2 8l YV UNS ~ SHE
SN 2
Ha: =0l OE NUIA HMB(22H)

S9l: SEHO 2T 29 (e9: & 9)
& HH -G () - HEMY - BdS Off &F o4 INEH Husz
=3 482,194 480,575 1,619
=0l OHE NHIA M3 (2ZH) 130,024 129,532 492

S8X0 2TH 2Y 130,024 129,532 492
TTAE ¥ BHRKZ2(2TH) 28,378 27,886 492

201 L2 | 22,544 22,052 492
02 22| 22,544 22,052 492
OJ2S % MSS ®II23
23 18,000,000% 18,000 17,508 492
401 A& B2 = H bl 5,000 5,000 0
01 Al&HI 5,000 5,000 0
O#D 24 2 0 0 5,000 A5,000
OPIARA BARA 5,000 0 5,000
ZOIHOEA NSNS (EZ) 250,000 250,000 0
RHEUES NN (228) 250,000 250,000 0
ATD FUSVAL(2ZH) 250,000 250,000 0
401 A EHI L 2O 250,000 250,000 0
01 Al 250,000 250,000 0
OZHY3 NY2eF(70n) B 12,224,490 12,225 10,000 2,225
OBH4 52T Z(80m) A 11,141,4009 11,142 10,000 1,142
OSAl S2EF(150m) 23 31,759,702 31,760 20,000 11,760
OJtLRH b4 2 & X (150m)
A 15,452,640% 15,453 15,000 453
OREI| Y2 &X(60n) ZH 8,657,040% 8,658 7,000 1,658
OLZ 0122 ZH 2 o+ =& X (100n)
23 10,955,930% 10,956 12,000 A 1,044
OFY S2EF(120m) 2 20,766,470 20,767 22,000 A 1,233
OB OIS ALEF L 24(110m)
A 17,202, 1202 17,203 17,000 203
O%=2 s22F ¥ LHEI(110m)
2 10,949,2102 10,950 22,000 A11,080
OYBI 42X ¥ SZ=IH(150m)
2% 15,901,130 15,902 25,000 £9,008
OALO0IZB =2 H(200n) H 22,955,870% 22,956 25,000 ~2,044
Ogs2 YZ EM 2] (400m)
23 21,468,600% 21,469 25,000 £3,531
OS4 o= M&IHI(100m) ZH 8,578,390% 8,579 10,000 A1,421
Ootss S2HH(15m) P 18,928,4208 18,929 20,000 A1,071
OSZe Mooy MEIHI(14)  ZF 08 0 10,000 £10,000
OHY D& L4 2 & X 2 Ab(66m)
23,051,000% 23,051 0 23,051
HH2AAH (2FH) 102, 170 101,043 127




<

n0

Kio

Hl w

127

1

1,127

477
477
477

68,562

68,562

25,358

3,043
2,023

Off &t 24

69,689

69,689

25,835

3,520
2,500

b

0
I

Jl=2AHI(

30
OH
)
oll

201

30
0
H0
A0

2

2 & 2,500,000

fo
o

hu

[=1]

650
650
400
250

2,500
2,500

3,150
3,150
400
250

Sl
Oox Fe(s¢

O=ZAA F

405 TtatH




E 0 & AFHE B M A

SN HaEo
[u}

MM =0 OHE MHA MB(HEEH)

Cel: 82X HIEH 29 (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
HAMO 1,611,179 1,594,529 16,650
=0l OFE MHA HM2(HEIY) 482,749 467,749 15,000
SEF0 HMH 29 482,749 467,749 15,000

BIANE L FHHSAA(HEH) 235,061 220,061 15,000
201 LEt2 A H| 150,642 135,642 15,000

02 B229H| 148,720 133,720 15,000
OJNZ2sHII23 15,000 0 15,000
401 Al HI 2 20| 40,070 40,070 0
01 Al&H| 40,070 40,070 0
OZAMN SHOIE N2 WHZA
22X 17,175,0008 * 14! 17,175 25,200 A8,025
OFA TIN5 2AF ZH 1,191,0008 * 14l 1,191 1,270 AT9
OSHOIAAZHEH Z AL 9,537,0008 * 14l 9,537 0 9,537
OFA MYII22E IS EHA EXIZA
23X 10,567,000 * 14l 10,567 12,000 A 1,433
FOIHOZA XSEHL(HAH) 700,000 700,000 0
ZEUE NYNL(HAEH) 700,000 700,000 0

ARE FO=AAY(HAH) 700,000 700,000 0
401 AlEHIZ 20 700,000 700,000 0
01 Al&H| 700,000 700,000 0

O=Ss O12et2 2 & H ZE(200m)

A 22,615,000 22,615 25,000 A2,385
OFel ANBYA U TERDA(14])

A 17,689,000 17,689 20,000 A2,311
ONZE 242822 AH200m)

A 18,774,000 18,774 20,000 A1,206
OSSH 022 M 2I(200m)

A 14,087,000 14,087 15,000 2913
OlEH 2 XX L U423l (200m)

AE 23,100,000 23,100 25,000 A 1,900
OASt S22 X L Hi2=2FH| (150m)

AE 14,999,000 14,999 15,000 A
OEEh 2 A (250m) 22X 22,848,000 22,848 25,000 A2, 152
O/E OtAZRAM 2D 2 22 FH| (250m)
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Oatdl D28 E &R ZAH(14A!)
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23X 19,754,000 19,754 20,000 A 246
OAIT] DS AN 2 AH(450m)
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2N HEH
MM ZOHOZA AP (HAEH)
Chel: REUS KUNL(HEM) (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
O3T1 AlHES 2 ZTX(100m)
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=0 MF mo £ 145,795 146,207 A412
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307 eI2+0l & 1,380 1,452 AT2
05 QIZtREL2 1,380 1,452 AT2
OROAHAALY 24| 23X 1,380,000& 1,380 1,452 AT2
BIANE L FHHRI AR (AH) 44,914 45,254 A 340
201 L2 A H| 19,860 19,500 360
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